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36.85 + 6.3 = 368.5 + 63 = 5.8---0.31
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0.92 +0.28

[ 2
> = 292

0.92 +0.28 = 3---0.08
3-0.08 =292
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[ ekl Bolz

Ll

TSHA L.

HE2] 50l 20em §1 @ @)t 5ol 60cm Sl ¥ @7F AsHT
o] & 9] go|E otH ¢ @ﬂ'DCIﬁQ o Wayth

on

o

8
N

[ 2
[> HMEH 1570cm?

(@ €2 Hol) - (@ ¥ Hel)
= (30 x 30 x 3.14) — (20 x 20 x 3.14)
= 2826 — 1256 = 1570( cm?)
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@9 "ol) = |x2)x(_]|x2)x3.14
:D [[Ix4x314=(]x[ |x314)x4

o gol) =] |x[ |x3.14
E}EW @4 Hole @9 Holo 48yt




o2 132 9O HHx]E0] 6ecm , =171 13em 9 L7159 A
TAdYrtt o] A A HALZY (FH) Q] 72t A2 o] Hoje
S oA L.

| 2
[> & 50.68cm

8 L o] Zoli W] Seo] Zojot gt
(6x2x 3.14) + 13 = 37.68 + 13 = 50.68( cm)
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>
> HE: 5224cm

(A7) 7h7)= (TR do] 9)
(8% 2x 3.14) +2 = 50.24 4 2 = 52.24( cm)




11, 72 0.3m & FAI= 2.49kg o] 2L, Y 2 2.4m O] FA= 5.28kg
dUrch 22 do|=2 vud of, 7} grf o] FA = o g o] FA <]
oF & wfQlz] Rh&Rste] A4 AR Ape]7hx] ey Al L.
=i Hj

>
> ®Er: oF 3.8

~&B

7} Bt 1m 9] FA1E 2.49 + 0.3 = 8.3(kg),
U = 1m 9] FA1= 5.28 + 2.4 = 2.2(kg)
whebA] 7} g o] FAl= 2 o] A9
8.3+22=377--- > % 3.8(H]) YUtk




9] Zo|7F 14.8cm 0|1, 27} 7F2 E Tt 1.6cm &2 ZAML S o]
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> =g ok 1558
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7t2 2}t A 22] dol9] gh2

14.8 + 2 = 7.4(cm) o] B2

(7t2)= (74 + 1.6) + 2 = 4.5(cm)
(M2)=7.4-4.5 = 2.9(cm)
45+29=1551--- o]B& ¢F 1558 c}.
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=T72% —
X 5
= 43.2(cm?)
AxBEB 2
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O0x3.14-0x3=5.6

O0x0.14=5.6
O = 40(cm)
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Ox3.14-0O0x3=4.2
O0x0.14 =42
0 = 30(cm)




